SUBTRACTING UP TO 1 000 000 WITH CARRYING (H - SET 5)
SUBTRACTING UP TO A MILLION

Name:

Time:

Score:

n 951413 — 808600 =

2 894771 — 641294 =

39961258 — 903747 =

1247520 — 199174 =

5 755534 — 79783 =

6 266453 — 16251 =

N 899013 — 535151 =

¥ 878844 — H8B422 =

9 448923 — 248705 =

10) 528713 — 183514 =

11971056 — 732261 =

12) 426482 — 419005 =

1) 287227 — 154014 =

1) 510520 — 147496 =

15 911098 — 99145 =

Mathematics: Subtraction - Level 8 - Horizontal - Set 5 2
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201980 — 95227 =

927311 — 669180 =

898192 — 70058 =

489786 — 310046 =

978789 — 311683 =

682575 — 540736 =

382681 — 256386 =

812148 — 766869 =

675021 — 104621 =

405180 — 378722 =

797968 — 578865 =

954374 — 799503 =

287197 — 18748 =

500616 — 347168 =

956821 — 345856 =
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